Module-7: electronic exercise | Selaciieish 33T

Q1 Which resistor is used to measure light intensity? | Jehrer ST Jiadr &l ATT & forv g
TR HT IYIT FohdT ST §2

A VDR

B NTC

CPTC

D LDR

Answer:D,

Q 2 Which code indicates silicon semiconductor diode? | f&foreplaT T#T FsFeX 31 fhg 15
I ST AT 872

A OA79

B BY 126

C IN 4007

D 2N3055

Answer:B,

Q3 What is the input ripple frequency (Fin) of full wave rectifier? | Tﬂaﬁmﬁw
Raer Dreradr (freT) FAT B2

AFin="%F

B Fin = Fin

CFin=2Fin

D Fin = V2 Fin

Answer:C,

Q 4 Which is a active component? | Tsh Tfshd T shisT TT g2
A Inductor | 38&FeX

B Resistor | ToEeX

C Capacitor | #3fdex

D Transistor | ifoieex

Answer:D,

Q 5 Which letter indicates the compound material cadmium sulfide? | isT &T 378 Fifdh
qeTy HfATH Towss oI 3Hd AT g?

AA

B B

ccC

DR

Answer:D,

Q6 What is the name of the symbol? | 9citeh T =ITe FIT g2
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P—o_

B‘l _JJ" Y=AB

A Two input OR gate | &1 7Y€ OR 3T

B Two input AND gate | & e79¢ AND 1€

C Two input NOR gate | & 349 NOR 3¢

D Two input NAND gate | & 3579 NAND 3¢
Answer:D,

Q 7 which is a passive component? | T fATShT Tee it AT 872
A Diac | 31T

B Diode | 3118

C Transistor | gifoiex

D Capacitor | FaTRT

Answer:D,

Q 8 What is the name of the device symbol? | fSars® el T AT T 872

A SCR | TOHI3R
B IGBT | TSsiielier
C DIAC | 3I&

D TRIAC | e
Answer:C,

Q 9 How many characters are in hexadecimal number system? | gFaTs &l TEAT YUTTell H
forcrey aot §2

A6

B8

C12

D 16

Answer:D,

Q 10 which electronic circuit generates A.C signal without input? | SlsT TT Selergifeleh Hlhe
{911 g1 % A.C TReTer 3ceet AT &7

A Filter circuit | fFeex afde

B Rectifier circuit | iGsehRT Afhe

C Amplifier circuit | Ia¢s Tfdhe

D Oscillator circuit | greteT &fhe

Answer:D,
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Q 11 Which instrument provides a visual representation of measured or tested quantities? |
ShieT AT IYRIUT ATY U AT TEIOTd AT T Tah 237 Ufafeifiica Uerel aar g?

A Voltage stabilizer | diecsl TeTATSR

B Function generator | BeleT Slelch

C Cathode ray oscilloscope | 213 Y 3ifAaEhT

D Radio frequency generator | 33T thrad T STeiieX

Answer:C,

Q12 What is the name of amplifier? | TFIeITHIIR &I T FAT &7

A Common emitter amplifier | SiHT TfAET TETHRIT

B Class B push pull amplifier | FeITE st 92T T TFIelThTIIR

C Common collector amplifier | SidT EhichEI—ET TFITBIRIT

D Class AB push pull amplifier | FelT& Tsl g Jef TFIelhRR
Answer:B,

Q13 What is the formula to calculate the resonance frequency in an oscillator circuit? | Teh
aleleT Hiche 3 37alsTIe T T IUTAT el T FF FIAT 82

S
A 27.C

Fr = _1
B y27LC

Fro= 1.—
C 2 4LC

Fr = 1—,_
D LC+/2x
Answer:C,

Q14 What is the minimum voltage required in the base emitter junction to conduct a silicon
transistor? | FfereleT giforeex & aTelst & fov a8 uffe Siererst 7 =gsTa# dlecsr i
JTARYHAT FIT g2

A 0.2V-0.3V

B 0.4V-0.5V

C 0.6V-0.7V

D 0.81-0.9Vv

Answer:C,
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Q15 What is the minimum and maximum value of resistor with four colour bands, red, violet,
orange and gold respectively? | S&LT: TR 3T &5, AT, S9Te1T, AR 3R Tt o ATT GTARTYT 1
eAdH 3R TR dH AT T 82

A 237500-262500 Ohm

B 247000-273000 Ohm

C 256500-283500 Ohm

D 224000-336000 Ohm

Answer:C

Q16 What is the reason for barrier voltage is more in silicon material? | f&forsiaT @realy &
QAT oS T HIOT FAT &2

A Lower atomic number | S& TRATI] HEAT

B Resistance is very low | IfcRIT Sgd e &

C Doping percentage is more | 2R gfaerd 3ifs &

D Valence electrons are two only | 3oi& Solacisl Shdel al &

Answer:A,

Q17 What is the reason for widened barrier in a reverse biassed diode? | Ra¥ sTITs s/
3 IS ST T HROT FAT 8?2
A Minority carriers in two materials are neutralised | G HIIT 7 3eUTE&TS dlgeh 3GTHTT

ST

B Electron in N material is drifted to positive terminal | Tl HERIT & Selaela dail ¥ Ultaiied
AT A T STaT

C Holes in P material attracted to negative terminal | 9 T133lT 7 gTel sThRIcHS ClaiaTol o ToIT
3RS forar

D Electrons and holes are attracted towards supply terminals | Solaele 3R 8T mqj%‘f
cfAsTall T AR IRV g &

Answer:D

Q18 which is the advanced version of power electronic component used in the output stage
in drives? | 389 & 3T3¢YE TRUT & IYANT FhT STl dTel UTaR SeleFciTeieh Tceh T Sooicl HERIUT
DT 872

AFET

B UJT

C SCR

D IGBT

Answer:D,

Q19 Which logic gate refers the truth table? | Tc& dTfeierT fohd clToteh 31T I TG Pl 672

Al B[ v=a
o | o 0
1 | o 0
IR 0
IR 1

Download from : www.ncvtonline.com



A OR gate | OR 31T

B NOT gate | NOT 3l
C AND gate | AND 31
D NOR gate | NOR 3
Answer:C,

Q20 Which quantity can be measured by CRO? | HI3TR3T gaRT fohe ATAT &l ATAT ST Hhel &7
A Frequency | 3g

B Inductance | SRehca

C Resistance | 9faRrer

D Power factor | QI a[0Tish

Answer:A,

Q21 Which is the main application of SCR? | HehRIcH IS T HET HTANT hlef TT &2
A Amplifier | gt

B Oscillators | &leish

C Multi vibrators | #eET agsex

D Speed control of motors | #eT & I1fer =0T

Answer:D,

Q22 Which doping material is used to make P-type semiconductor? | f-2189 THT shaaex
eIt o forw forar SYfSer A= s 39ANeT fRam STar 872

A Boron | aRTeT

B Arsenic | 3T

C Antimony | TErFsAT

D Phosphorous | BIEGRI

Answer:A,

Q23 which type of biasing is required to a NPN transistor for amplification? | Ja¢iel & forw
NPN gifeieex & fov forg v &Y 31fRafa & 3maegehdr gidr §72

A Base ground, emitter and collector positive | S8 333, TfAR 3R FeolFe difaifed

B Base negative, emitter positive and collector negative | 38 fasifea, tfFet uifaifea ik
Folael Adfed

C Base positive, emitter negative and collector positive | 9 difaifed, Tiaex faeifea 3ilk
FolFel

D Base positive, emitter negative and collector negative | 39 Uifeifed, TfAex fAaifea 3ik
Foleey fAafea

Answer:C,

Q24 What is the type of function in the transistor circuit? | eifaex Tfthe H HFAT FHT ThR
FaATE?
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A Switching | REaf=ier

B Oscillation et

C Modulation | ATgZerre
D Amplification | Ja&ie
Answer:A,

Q25 Why negative feedback is required in amplifier circuits? | TFTBRR Tfehe F dThRIcHS
HIsdeh I HTTLTHRAT FAT 872

A To reduce the distortion | faehfc T & #el & foT

B To increase the amplification factor | ¥a¢isT R & S & o

C To increase the output voltage gain | 3T3€Ye dlecsl Fel & faT

D To increase the output current gain | 3T3EYe YRT AT H Jefdh il & forw
AnswerA,

Q26 What is the purpose of DIAC in power control circuits? | 9TaR et Gfehe & DIAC T
3CaRY FAT 572

A As rectifier | IFCHRR & & H

B For triggering | f¢9R et & T

C As an oscillator | T 3if&ele & ®9
D For amplification | ¥a¥i=T & faIw
Answer:B,

Q27 Which type of control device is used in electronic fan regulator control circuits? |
Solaeifore I faarae faa=or afdhe & fFT e & [RT=0T 3UhoT 1 39ATeT fohar STar g2
AFET

B UJT

C DIAC

D DIAC

Answer:D,

Q28 Which quadrant operation of SCR delivers heavy current in reverse biasing? | SCR T
it AT Ta2ier garersT Rad Srafder 7 51 e garg?

A First quadrant | TgelT =rcqfer

B Third quadrant | IR Trqfer

C Fourth quadrant | =T Trqfer

D Second quadrant | G&RT =Tqifer

Answer:B,

Q29 What is the use of time-base control switch or knob in the CRO? | @3R3 H c8H-84
Ferol TEaa AT AT T YN FAT 872

A Select sweep speed | T TS HTI TIA HYL

B Select input voltage range | $T9€ aleesT IoT T TTeT Y

C Select input signal voltage| $79¢ fAvaTeT atecsT T TTT Y

D Select intensity of the beam | &7 FT T &7 TIF YL
Answer:A,

Q30 Why a snubber circuit is used in the TRIAC motor control circuit? | g/ #Alex fag=or
fehe H Ueh Tolax Afche T 3YIET FAT fohdT ST 872
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A To avoid false triggering | 3Teld fgoR & st & forw

B To increase the life of TRIAC | T &I SiideT d¢TeT o [T

C To increase the motor torque | FATET TeITEET 3 &elcy &I §gre & ferw

D To maintain the motor speed constant | #TeX 3iTfAeex FI T HI U AT W@ & fow

Answer:A,

Q31 Why most of semiconductor devices are made by silicon compared to germanium? |
ST & Jorer 7 FATAPIaT GaRT 3fRHTer 37E 3T <ATeTeh IUHIVT FAT FATT ST 572

A High barrier voltage | 3= eI dlec ol

B High resistance range | 3Ta 9faRrer 3o

C High thermal conductivity | 3= aT9T ATelehdT

D High current carrying capacity | 3T IRT of SiTel &bl & T

AnswerA,

Q32 What is the characteristic property of base material in a transistor? | Te gifoi€el &
3R Y 7 [ 707 &7 82

A Lightly doped and very thin | §<h & 319 foham g3m 3R g Tefel

B Heavily doped and very thin | WWE’{HW

C Lightly doped and very larger | g% & 21T 3 g3 3R 9T 5T

D Heavily doped and very larger | 341'&3-?\?3%?3?;

Answer:A,

Q33 What is the type of amplifier? | T&FIeiltaIR &l YehX FIT 52

it

A Push Pull Amplifier | QI ol TFThIRR
B Common Base Ampllfler | HIHA o TFTATHIR
C Emitter Follower Amplifier | TfAe BIelI3R TFTelhRR

D Common Emitter Amplifier | ST TfHET TFTolhRR
Answer:D,

Q34 What is the output voltage if the centre tap of transformer is open circuited in a full wave

rectifier circuit? | uﬁmaﬂwwqﬁmwmﬁwgm% dr 3m3eye
aleeol FATE?

A Zero voltage | =¥ dleest

B Full rated output | quT 3¢5 fadta

C Half of the rated output | ¥¢3 f@3Td T 3mem

D one fourth of rated output | ¥¢3 T &1 T aturs
AnswerA,
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Q35 Which oscillator provides high accurate stable frequency? | lsT IT gleleh 3Td Tl
feuT 3gfr gt e 87

A Hartley oscillator | gT¢er 3{Tfeex

B Colpitts oscillator | eIfted 3iff e

C Quartz crystal oscillator | FacH foheed |

D R.C. phase shift oscillator | 3TRET %t R

Answer:A,

Q36 What is the main application of a Field Effect Transistor (FET)? | ies gthare gifoieel
(FET) 3T H&T 379141 7 872

A Voltage control device | atecst faa=or fSarsa

B Current control device | aRT g7 f3arsa

C Positive feedback device | ThRIcHS Hhisae Sasa

D Low input impedance device | &# geT9C EIGEICIREETU]
Answer:A,

Q37 Which multi vibrator produces a repetitive pulse waveform output? | i TT Hed! aSsel
3T3EYE A STETGER e Id el Y &7

A Astable multi vibrator | 3ECae Fecl ASseX

B Bistable multi vibrator | STSTcaol Hecl dBse

C one shot multi vibrator | @& 2ITe HeeT aTSsieT

D Monostable multi vibrator | FIAEE Heel aSset

Answer:A,

Q38 What is the main function of Uni Junction Transistor (UIT)? | J=iT STerIeT gIfSieex (UIT)
T HET 1 FIATE?

A Relaxation oscillator | Rereraere 3ifeiex

B Broadcast transmitter | HROT SrEAHTET

C Loudspeaker amplifier | a3 T TFTelIHIAX

D Microphone input device | #TSshIthIsT 3e1qc fSarsd

AnswerA,

Q39 Why a feedback network is used in the oscillator? | gleler & Teh HISd slcdeh ol 3TATT
4T foRaT SITaT §72

s
l -
A To cancel noise distortion | 2N A& I &g FLA & forw

B To phase shift the signal by 60° | 60 f33ff & that fAIFe et & foiw
C To phase shift the signal by 180° | f&aeTel Sl 180° & et fATE et & ToIT
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D To cancel second harmonic distortion | gaR gT#feter [aETUT &I Tgg it & forw

Answer:C,

Q40 How is the gate terminal of N channel JFET biased? | N @eel JFET &7 3I€ cfiadel hdl
AfAAT 87

A Gates are reverse biased | 3cq 92T AfHAT &

B Gates are forward biased | 3cq 3731 3ifAad §

C Gates are forward biased with drain | 3¢ 3T & &I 3731 3fAAT &

D Gates are reverse biased with source | 3CH T & AT 9T HTHAA &

Answer:D,

Q41 What is the main advantage of a class A amplifier? | T T TFIHIIR I qTY ot
FATE?

A Minimum distortion | #gsTci# fashfar

B Maximum current gain | 37TIehd#d YRT ST

C Maximum voltage gain | 31f8Ide alecst oreT

D Minimum signal to noise ratio losses | 21X 3iTd g1fel & fT =T fAaeter
AnswerA,

Q42 Which device is made up of using the methods of point contact, grown, diffusion and
alloy junctions? | f8ig Hueh, Taehfad, FSwIETeT AR T U1 Siererit & o{ishi T 3TN Hleh
e 3UaOT T TRATOT fohar SITaT 82

A Inductor | 9ehca

B Resistor | faRigs

C Capacitor | @emiRT

D Transistor | gifaieex

Answer:D,

Q43 Which electronic circuit produces signal waves or pulses without an input? | et &T
goAdelioleh Hiche TSl oTqC & fATeTer oI AT ToXE T Sculee il &2

A Detector | f8¢FeX

B Amplifier | T&ETelthIaX

C Oscillator | dXAITAATAT

D Modulator | AISFeteX

Answer:C,

Q44 Why the collector region is physically made larger than emitter region in a transistor? |
Teh giforeel & dholareX &1 Hifas T F Ichoieh 817 T 37T 3T §=I13T ST 872

A It has to dissipate more heat | 38 3718 ITHT FHT THR AT ISAT §

B Output taken from collector terminal | Felaex efiteTel & forar I feta

C Base collector region is reverse biased | 9 Felae? &7 Ra¥ sIEs &

D Collector region always operate with high voltage | FeldeX 815 §H2IT 3T dlecol & AT
HTH AT &

Answer:A,

Q45 Which circuit is essential to maintain oscillations or waves in an oscillator circuit? | grelesh
fehe H alctell IT A3 T FATT WA o foIT it AT Afche 3MaeTH 872
A Rectifier with filter | freex & AT fgseahrr
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B Voltage multiplier | dleest a[oTeh

C Negative feedback | TRIcHS HIsaH

D Positive feedback | ThRTcH® HISsh
Answer:D

Q46 Which device has very high input impedance, low noise output, good linearity and low
inter electrode capacity? | féhe 3UeOT & Tgd T8 STYe TTISTEN, e AR AT, 3reer
YRFar 3R FH7 R SAFIT EHATR?

ANPN transistor | TadIUeT gifoiEex

B PNP transistor | ffuadY giforeey

C Field effect transistor | Fies gthare Tifoieex

D Uni junction transistor | Jfisierre Zifareet

Answer:C

Q47 What is the difference in current control of MOSFET compared to JFETs? | JFETs &I
ofell & MOSFET o YRT fI=0T # &7 3ic 87

A Insulating layer instead of junction | STeFRIeT & ST ogelc T

B Using N material instead of P material | 97 AT & TS U ATHY ST ITIIT HIAT

C Using P material instead of N material | TeT AT & S O AU ST ITANET AT

D Using N material gate instead of P material | 9t G1#afT & ST Ut GTHAT 31T T 3TITT
hIAT

Answer:A

Q48 What is the type of amplifier circuit? | TFIelIhRIR Hihe T YhR FIAT &2

L]

A Common base amplifier | HiHT 59 g

B Common emitter amplifier | SideT TfATT TETohRR

C Class B push pull amplifier | FITd st T Jef TFTelhIT
D Common collector amplifier | &t Eh%TRT TFIATHIRIT
Answer:D

Q49 What is the peak voltage of 220v rms AC voltage? | 220v rms AC el & Ui dlecst
FATR?

A 310.02V

B 311.17V

C 312.25V

D 315.20V

Answer:B
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Q50 What is the frequency of the displayed signal on CRO screen covered by 5 division with
a time base setting of 0.2 microseconds? | 0.2 HATShT U3 & TBH 97 AT & ATY 5 BdreTeT
EaRT e fohT 3T CRO FohieT TR Y& Tt [veier &I gy 7T &7

A 1.0 KHz

B 10.0 KHz

C 100.0 KHz

D 1000.0 KHz

Answer:D
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